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Solving Trigonometric Equations
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Solving Trigonometric Equations Using a Graph
y=sin 0
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Exercise 7.7

Finish #6-8




Graphs of Other Trig Functions

y=sin 0

y = sin X

What would the graph of
csc 0 look like?

REMEMBER:
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where sin x =0,
csc x 1s undefined
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where cos x = 0,
sec x 1s undefined
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y =tan 0

What would the graph of
cot 0 look like?
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where tan x = 0,
cot x 1s undefined

y=cot0
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Homework

11



	Page 1: Nov 16-2:46 PM
	Page 2: Nov 28-8:50 AM
	Page 3: Dec 15-7:11 PM
	Page 4: Nov 19-9:11 AM
	Page 5: Nov 20-8:14 AM
	Page 6: Nov 27-4:49 PM
	Page 7: Nov 16-2:48 PM
	Page 8: Dec 14-1:13 PM
	Page 9: Nov 28-9:02 AM
	Page 10: Dec 14-1:59 PM
	Page 11: Dec 10-11:14 PM

